For Discount White Outdoor Parts Call 606-678-9623 or 606-561-4983

195-067-190 Top Discharge Grass Catcher (1985) Page 1 of 2
Top Discharge Grass Catcher Kit

M —

g

WWW.mymowerparts.com



For Discount White Outdoor Parts Call 606-678-9623 or 606-561-4983

195-067-190 Top Discharge Grass Catcher (1985)

Top Discharge Grass Catcher Kit

X
9]

—
H:

ZXr X _IOTMMUOWIronhwNR

Part Number Qty S/P/IF
764-0212 1

747-0495 1

731-0733 1

747-0494 1

16149 1 S
16441 1 /P
710-0134 1 /P
710-0258 1 S
710-0289 1 S
710-0286 1 /P
726-0233 1 /P
736-0204 1 /P
736-0463 1 S
712-0109 1

736-0329 1 S
712-0287 1 S
720-0208 1

751-0434 1 S
710-0578 1 /P
712-0267 1 S

Page 2 of 2

Description

Grass Bag

Grass Catcher Handle

Top Discharge Chute

Front Catcher Frame

Top Catcher Panel

Panel Support Bracket

Carriage Bolt 1/4-20 x 5/8" Lg.*

Hex Bolt 1/4-20 x 5/8" Lg.*

Hex Bolt 1/4-20 x 1/2" Lg.*

Truss Machine Screw 1/4-20 x 1/2" Lg.*
Bolt Retainer

Flat Washer 5/16" I.D. x 5/8" O.D.

Flat Washer 1/4" 1.D. x 5/8" O.D.

Wing Nut 1/4-20Thread

LockWasher 1/4" |.D.*

Hex Nut 1/4-20 Thread*

Door Grip

Rope Guide Half

Truss Machine Screw 1/4-20 x 1-1/2" Lg.*
Hex Nut 5/16-18Thread*

WWW.mymowerparts.com



